BALDORRELIANCENF

Product Information Packet

FCD35

DRIP COVER KIT ASSY - 35FR

Copyright © All product information within this document is subject to ABB Motors and Mechanical Inc. copyright © protection, unless otherwise noted.



BAILDORRELIANCERF Product Information Packet: FCD35 - DRIP COVER KIT ASSY - 35FR

Parts List

Part Number Description Quantity
35FH3002 DRIP COVER - USE KIT 35FH5006 1.000 EA
HA3100A38 THRUBOLT 10-32 X 9.375 2.000 EA
HA3100A23 THRUBOLT 10-32 X 10.375 2.000 EA
HA3100A22 THRUBOLT 10-32 X 10.125 2.000 EA
HA3100A35 THRUBOLT 10-32 X 12.625 2.000 EA
XY1032A02 10-32 HEX NUT DIRECTIONAL SERRATION 4.000 EA
HW1001A10 WASHER, #10 SPLT LK, ZN X 4.000 EA
PK1140 9X13/4X9 FOL SERVICE DEPT BOX 1.000 EA
LB1425A02 LABEL THERMAL 3X1 ON PERFORATED ROLL 1.000 EA

Page 2 of 3




BAILDORRELIANCERF Product Information Packet: FCD35 - DRIP COVER KIT ASSY - 35FR

No performance data has been
assigned to this product.

Page 3 of 3



